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

 is the continuative use of the conjunction KAI, meaning “And,” followed by the third person singular aorist active indicative from the verb EIPON, which means “to say: said.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that Jesus produced the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the dative of indirect object from the third person masculine plural personal use of the intensive pronoun AUTOS, meaning “to them” and referring to the Sadducees.  This is followed by the nominative subject from the masculine singular article and proper noun IĒSOUS, meaning “Jesus.”

“And Jesus said to them,”
 is the nominative subject from the masculine plural article and noun HUIOS, meaning “The sons.”  With this we have the descriptive genitive (or genitive of identity) from the masculine singular article and noun AIWN with the demonstrative pronoun HOUTOS, meaning “of this age, world; segment of human history.”
  (This phrase—‘the sons of this age’ is also used by Luke in Lk 16:8.)  Next we have the third person plural present active indicative from the verb GAMEW, which means “to marry.”


The present tense is a customary present for what typically or normally occurs.


The active voice indicates that the sons (men) of this age/world produce the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the additive use of the conjunction KAI, meaning “and” plus the third person plural present passive indicative of the verb GAMIZW, which means “to be given in marriage.”


The present tense is a customary present.


The passive voice indicates that the sons (women) of this age/world receive the action of being given in marriage.


The indicative mood is declarative for a simple statement of fact.

“‘The sons of this age marry and are given in marriage.”
Lk 20:34 corrected translation
“And Jesus said to them, ‘The sons of this age marry and are given in marriage.”
“Luke’s version lacks the rebukes about being wrong, not understanding the Scriptures, and God’s power—all of which are in Mt 22:29 = Mk 12:24.”

Explanation:
1.  “And Jesus said to them,”

a.  Luke continues the story of Jesus’ encounter with the Sadducees in the temple by describing our Lord’s answer to their trick question about resurrection.


b.  The Sadducees’ question about whose wife a woman is after marrying seven brothers in succession who die childless was designed to prove the absurdity of resurrection in the eyes of the Sadducees and publicly embarrass Jesus by asking Him something that they thought could not be answered logically.  They have set a trap for Him, and now He will snap the trap on them with His answer.

2.  “‘The sons of this age marry and are given in marriage.”

a.  The word ‘sons’ refers to people in general.  The phrase ‘of this age’ refers to the period of human history from the creation of man until the second advent of Christ (the end of the Jewish Age).  During this period of human history people who are born, live, and eventually die do two things: (1) the men marry, and (2) the women are given in marriage.


b.  The sons (both men and women) of all human history prior to the millennial reign of Christ marry or are given in marriage.  This is normal, typical, and necessary for the perpetuation of the human race because of the problem of physical death.


c.  This statement is a universal truth that no person can deny, not even the Sadducees.  So Jesus begins His refutation of the Sadducees question with an undeniable fact.


d.  The phrase ‘of this age’ suggests that there will be more to this answer about ‘the sons of a future age’.  The beginning of this answer also suggests that Jesus has more to say about marriage, as we shall see.

3.  Commentators’ comments.


a.  “Jesus’ reply contrasts two ages.  This contrast removes the dilemma, for the current age is not like the next.  The resurrection is a sufficiently distinct reality that the Sadducees’ question does not apply.  Life in this age is indicated by the reference to ‘the sons of this age’.  Jesus says that in this age the realities of pre-resurrection life are that ‘men marry and [women] are given in marriage.’”


b.  “The first part of Jesus’ answer offered a corrective to the Sadducees’ defective theology.  Jesus’ answer divided human existence into two ages, what he termed ‘this age’ and ‘that age.’”


c.  “The Sadducees had the right logic but the wrong premise.  They were assuming wrongly that the conditions in the future life would be identical with those here.”


d.  “The Sadducees have a false premise on the question of resurrection, one that is absolutely foreign to Moses and the Scriptures, namely, that in the future world the same conditions prevail that are found in this world.”
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